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t,7(> Which properties hest describe the coordinate graph of two distinet paraliel lincs? =

A) sank slopes and same intercepts ) different slopes and different intercepts
B same slopes and different intercepts D) different slopes and same intercepts
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LX) [ two fines are parallel and the slope of one of the lines is m, what is the product of their slopes?
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6)() Line £ and fine C lie on a coordinate

C plane and have equal slopes. Neither fine crosses the second or third quadzant, Lines £ and
must

A) forman angle of 45°

C) be horizontal
B)  be verticai

D) be pempendicular
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Ny Al Lmes C o P ave i quackanT T ooncd I

X Theve fie the fmes cue yerdicad .
_AVL
e;() Which fine is parallel (0 a line having the equation p = 3y + 1
A) 1=dod B) vedvd !
N © y=x+! D) r=x+3
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CX) Aline has a slope of 4. What is the slope of any finc perpendicular o this fine?
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ex) Aline has a slope of -7. What is the slope of any line perpendicular to this line?
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6%) A line has a slope of;;. What is the slope of any line perpendicular to this line?
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